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bbperOrb gtr$6gbc'lq6Xb 0g6ob ti,:6c"rjrq,rjc'r 06Bg3gq'orr brblc'rb $g363bo: o66gtsr

lbgbtdg, 6c'r0rb 3gb.lq'lCI3oq,o, QJSocD 0gbbo, 016o6r $r3$,:6od3, orgc'r6r jc'rbgq',:d6, qtE)o

66o6c'rq'rgr, ,:6%c"r6 brbg6,>tsgoq'o, brorg6,r 0,:qq',r3gq'odg, rbggg: 66o6cnq, ocnbgq'orbo -

$g,:q'6gbc.rb 0g6o6oJrqro$g$ob 096o, 9c96,:b 0.lobg6,:dg - 0g6ob Jo636q'o 0cnrqg6oqrg,

.:q'gjbrbqg6g qg,:qrgbl0goq'o - 0g6ob Oc'rrqgoq'3, 0rq'b.:% Bbgodg - bo366ooro flo$gc"rbob,

obg6sli66gjgg6ob, ,r6joggjgp6ob,: qgr 3goroq'0c"r$gcnbob br0brbg6ob gg6cnbo, 16,>99

b,:0b,:bg6ol-r 5rbgergoq,Xbror,> gg6cnbgbo - oc'r6.: XoXUJ qg; q'ggrb Bt6g$ldg.

1. 3g6cr6g $grq>ggbcntJ br6o$l6gq'o qrl63ob %c"rbgbot-t qgr0$3o6gbob cnrcnbrbg

brjr6cnpq,c.rb 0orrg6c"rbob qr,:qr66oq'gbolr J6ergjgob Egb,>bgb.

q'C3rb Br3g3g.:dg - bog6gooro 0c.r$grrbob,: qg,>,:6joq)gjgg6olt 6.:6gc'rgoq'gbob gg6erbo

0 cn o b 0 o 6 g b: 3g6er6O $grqOUberb br6o$r6gq,o qgrggob %er6gbob qgr063oggbob

co,:e$rbg Lrjr6cnggq'cnlr 0orr36c.rbob qp.:qg6g6oq'gbob S6cngjgoLt 6gb,lbgb, bog66ooro

Ec'r$gerbobl cgr r6jogSjgg6ob 6,>6gc.rgoq,gboti gg6cnlrob q'g3r6 Br3pgrdob obgc.r60r6or.

,:% 6 o b J A c! ct, C A 5lr:6c"r0rb 33brq'r83oq,0,:, brco36,l 0,lqq',:3gq'odg0, QlJSocD

OXUbOr, cn gcn6,: jc"rbgq'.:d90, .:6bcn6 b,>b96,:03oq,0r.

qQ r r qg b o 6 C b: 3g6cn66 $g.:q'6gbcdr b,:6ogr6gq,o qgrggolr bobgbolr qgrOggo6gbob

cn,rob,:bg btj,>6orggq,erb 0cn,rg6erbob qg,lqg6g6oq,gbob S6c"rgjgoqgrb 5r0cn0qro6,:63 $g,lq'ggbc.rl-t
0g6o6oJrq,ogggob 0g6b 0ogggb tsg0qgg6o brbob 66rn0gbqrr6o,>:

1. 3g6c'r6$ $9,:q,$gbc'rlr l-r,:6o$,r6gq'o %er6gbol-t qgrO$3oggbob Egbrbgb brjr6orgq'c'rb
0cn.rg6cnbolr qgtqg6gboq,gbolr J6c.rgjgolt Eg0qg6gbqpbb g65erberor, 6c.r0 3g6cn6gob
br6ogr6gq,o bcnbgbo (6,:6b,l3go65boor 3o636q'o br6og,l6gq,o be6r)
tsgbr6Bgbqggb 1987 $Cqlt qrrqg6g6oq,o Jr6r0gg6gbocn.



2. 3c"r6gjgo6Cbgqo S6cngjgob Oc'rOqgggbcn 6rbboq'9,> Oc"rbqrgb 36c'rgjgob tggc.r6corb

0cn6r$oq'3crboor.
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